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Section 1 - PaperI-English Language 

 

1) Find the most appropriate opposite meaning word: 
MORTAL  

A) Lethal  
B) Life-giving  
C) Fatal  
D) Temporary  

 

 
 
2) Find the most appropriate opposite meaning word: 
EVASIVE  

A) Deceptive  
B) Intangible  
C) Forthright  
D) Dissembling  

 

 
 
Read the passage and answer the questions that follow: 
 
Marine art or maritime art is any form of figurative art (that 
is, painting, drawing, printmaking and sculpture) that 
portrays or draws its main inspiration from the sea. 
Maritime painting is a genre that depicts ships and the 
sea—a genre particularly strong from the 17th to 19th 
centuries. In practice the term often covers art showing 
shipping on rivers and estuaries, beach scenes and all art 
showing boats, without any rigid distinction - for practical 
reasons subjects that can be drawn or painted from dry 
land in fact feature strongly in the genre. Strictly speaking 
"maritime art" should always include some element of 
human seafaring, whereas "marine art" would also include 
pure seascapes with no human element, though this 
distinction may not be observed in practice.Ships and 
boats have been included in art from almost the earliest 
times, but marine art only began to become a distinct 
genre, with specialized artists, towards the end of the 
Middle Ages, mostly in the form of the "ship portrait" a type 
of work that is still popular and concentrates on depicting 
a single vessel. As landscape art emerged during the 
Renaissance, what might be called the marine landscape 
became a more important element in works, but pure 
seascapes were rare until later.Maritime art, especially 
marine painting - as a particular genre separate from 
landscape – really began with Dutch Golden Age painting 
in the 17th century. Marine painting was a major genre 
within Dutch Golden Age painting, reflecting the 
importance of overseas trade and naval power to the 
Dutch Republic, and saw the first career marine artists, 
who painted little else. In this, as in much else, specialist 
and traditional marine painting has largely continued 
Dutch conventions to the present day. With Romantic art, 
the sea and the coast were reclaimed from the specialists 

by many landscape painters, and works including no 
vessels became common for the first time.  

3) Marine art became a genre  

A) in the 16th century  
B) during the Renaissance  
C) in the Dutch golden age  
D) at the end of the middle ages  

 

 
 
4) The art in Seascape includes  

A) element of human seafaring  
B) only the elements of sea  
C) human sailing in the sea  
D) single vessel on the backdrop of the horizon  

 

 
 
5) Which of the following careers was born in the golden 
Dutch period?  

A) Marine artist  
B) Seascape artist  
C) Landscape artist  
D) Ship artist  

 

 
 
6) Marine art or Maritime is inspired by the  

A) sea creature  
B) ship  
C) sailor  
D) sea  

 

 
 
7) What art is depicted in ship portraits?  

A) Façade of the ship  
B) A Fleet of ships  
C) Crew members of the ship  
D) A Single ship  
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8) Select the correct option.  
I love living in this __________ city. 

 
A) an  
B) a  
C) no article  
D) the  

 

 
 
9) Select the correct form of verb from the given options.  
I ____________ cricket every Saturday evening. 

 
A) plays  
B) played  
C) play  
D) would play  

 

 
 
10) What is the plural form of Moose?  

A) Moose's  
B) Moosies  
C) Moose  
D) Mooses  
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Section 2 - PaperI-Education and General Awareness 

 

11) Which part of Indian Constitution details the provisions 
related to the Panchayati Raj Institutions?  

A) Part XI  
B) Part XI A  
C) Part X A  
D) Part IX  

 

 
 
11) ଭାରତୀୟ ସମିȴଧାନର େକଉଁ ଅଂଶେର ପřାୟତରିାଜ ଅନୁƪାନଗୁଡକି 
ସƓକƽେର Ȅାବଧାନ ରହଛି?ି  

A) ଅଂଶ XI  
B) ଅଂଶ XI A  
C) ଅଂଶ XA  

D) ଅଂଶ IX  
 

 
 
12) The Janardan Reddy Committee appointed by CABE 
in 1992 was basically formed to look into the educational 
progress of  

A) women of backward classes  
B) men and women of backward classes  
C) children of low socio economic status  
D) scheduled castes and tribal people  

 

 
 
12) 1992 େର ସିଏବଇି Ÿାରା ନଯୁିĽ ଜନାŵƽନ େରşୀ କମିଟ ି ମୁଖȻତଃ 
େକଉଁମାନŋ ଶିŁାଗତ ଅǲଗତ ିଉପେର ନଜର ରǅବାକୁ ଗଠନ କରାଯାଇǆଲା?  

A) ପଛୁଆ ବଗƽର ମହଳିା  
B) ପଛୁଆ ବଗƽର ପୁରୁଷ ଏବଂ ମହଳିା  
C) ସମାଜେର ǆବା ଗରିବ ଛୁଆ  

D) ଆଦବିାସୀ ଏବଂ ହରିଜନ ଜାତ ି 
 

 
13) To Undertake survey and studies relating to various 
aspects of teacher-education and publish the results is the 
function of  

A) State Board of Teacher Education  
B) National Institute of Educational Planning and 

Administration  
C) Center of Advanced Studies in Education  
D) National Council of Teacher Edcuation  

 

13) ଶŁିକ-ଶŁିାର ବଭିିƊ ଦୃƨିେକାଣ ସƓକƽେର ସେଭƽ ଓ ଅżୟନଗଡୁକି 
ଆେୟାଜନ କରବିା ଓ ଫଳାଫଳଗଡୁକି Ȅକାଶ କରବିା େହଉଛ ି______ ର କାଯƽȻ 
|  

A) େƨଟ େବାଡƽ ଅଫ ଟଚିର ଏଜୁେǉସନ  
B) ନȻାସନାଲ ଇନƨିଚୁȻଟ ଅଫ ଏଜୁେକସନାଲ ପȲାନଂି ଏŢ ଆଡମିନେିƩସନ  

C) େସŠର ଅଫ ଆଡଭାǜ ସଡ ƨଡଜି ଇନ ଏଜୁେକସନ  
D) ନȻାସନାଲ କାଉନସଲି ଅଫ ଟଚିର ଏଜୁେକସନ  

 

 
 
14) Which of the following is an antibiotic?  

A) Amoxicillin  
B) Acetaminophen  
C) Lutein  
D) Cetirizine  

 

 
 
14) ନମିȪମżରୁ େକଉଟଁ ିଏକ ଆŠିବାେୟାଟକି  

A) ଆେମାŅସିơିନି  

B) ଏସିଟାମେିନାେଫǜ   
C) ଲୁȻଟǜି   
D) େସଟରିଜିǜି   

 

 
 
15) In Section Five of New National Policy on Education, 
1986, which of the following issues related to elementary 
education were specially addressed?  

A) Access, Enrollment and Retention  
B) Access, Enrollment and Meals  
C) Meals, Enrollment and Retention  
D) Access, Retention and Meals  

 

 
 
15) ନȻାସନାଲ ପଲିସି ଅନ ଏଜୁେକସନ, 1986 ର ଧାରା ପାřେର, ଏଲିେମŠାରୀ 
ଶŁିା ସƓକǃତ େକଉଁ ସମସȻାଗଡୁକି ବେିଶଷ ଭାେବ ସେମȴାଧନ କରାଯାଇǆଲା?  

A) ସଗୁମȻତା, ତାଲିକାଭୁĽ େହବା ଓ ଧାରଣ  

B) ସଗୁମȻତା, ତାଲିକାଭୁĽ େହବା ଓ ମିǤ   
C) ମǤି , ତାଲିକାଭୁĽ େହବା ଓ ଧାରଣ  
D) ସଗୁମȻତା, ଧାରଣ ଓ ମିǤ   
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Section 3 - PaperI-Reasoning 

 

16) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All the strengths are threats. 
All the weaknesses are threats. 
Some opportunities are weaknesses. 
 
Conclusions: 
I) Some strengths are weaknesses. 
II) Some threats are opportunities. 
III) Some threats are weaknesses.  

A) Only I and III follows  
B) Only I follows  
C) Only I and II follows  
D) Only II and III follows  

 

 
 
16) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ:  ସବୁ ସାମଥƽ େହଉଛ ିଭୟ।  ସବୁ ଦୁବƽଳତା େହଉଛ ିବପିଦ । କଛି ିସେୁଯାଗ 
େହଉଛ ିଦୁବƽଳତା । 

ନƦିସƽ:  

I)  କଛି ିସାମଥƽȻ େହଉଛ ିଦୁବƽଳତା।  

II)  କଛି ିବଦିପ େହଉଛ ିସେୁଯାଗ    

lll) କଛି ିଭୟ େହଉଛ ିଦୁବƽଳତା 

 
A) େକବଳ I ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ I  ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ II ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  

 

 
 

17) In a certain code language LIVE is written as 129225. 
How is PAUSE written in that code language?  

A) 16111195  
B) 16121295  
C) 16121195  
D) 16111295  

 

 
 
17) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର LIVE କୁ 129225 େବାଲି େଲଖାଯାଇଛ ି
। େସହ ିସାେŋତକି ଭାଷାେର PAUSE କୁ କଭିଳ ିେଲଖାଯିବ ?  

A) 16111195  
B) 16121295  
C) 16121195  
D) 16111295  

 

 
 
18) The present ratio of the ages of David and Elan is          
4 : 3 . After 10 years, the ratio of their ages will be 5: 4. 
What was David's age (in years) 10 years ago?  

A) 30  
B) 20  
C) 50  
D) 40  

 

 
 
18) େଡଭǕି ଏବଂ ଇଲାନŋ ବŧƽମାନର ବୟସ ଅନୁପାଦ 4:3 ।  10 ବଷƽ ପେର 
େସମାନŋର ବୟସ ଅନୁପାତ  େହବ 5:4 । େଡଭଡିର ବୟସ( ବଷƽେର  (10 ବଷƽ 
ତେଳ େକେତ ǆଲା ?  

A) 30  
B) 20  
C) 50  
D) 40  
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19) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
Statements: 
All eagles are birds. 
No bird is dragon. 
 
Conclusions: 
I) No eagle is dragon. 
II) All birds are eagles.  

A) None of the conclusions follow  
B) Both I and II follow  
C) Only II follows  
D) Only I follows  

 

 
 
19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: ସବୁ ଛřାଣ େହଉଛŽି ପŁୀ  । େକୗଣସ ିପŁୀ Ǽାଗନ ନୁହŽଁ ି। 

ନƦିସƽ:  

I) େକୗଣସ ିଛřାଣ Ǽାଗǜ ନୁହŽଁ ି।  

II) ସବୁ ପŁୀ ଗୁଡକି ଛřାଣ । 

 
A) େକୗଣସ ିବ ିନƦିଷƽ  କୁ ଅନୁସରଣ କରŽୁ ନାହ ǂ  
B) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  
C) େକବଳ II ଅନୁସରଣ କରŽୁ  

D) େକବଳ I ଅନୁସରଣ କରŽୁ  
 

 
 
20) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
A. B, C, D and E are sitting in a circular seating 
arrangement. A is between C and D. Who among them 
is in between A and E? 
 
Statement I : E is sitting on to the immediate right of C. 
Statement II : A is sitting next to D. 

 
A) 4  
B) 3  
C) 2  
D) 1  

 

 
 
20) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

  

A. B, C, D ଏବଂ  E େଗାଲାକାର ଭାେବ ବସଛିŽ ି।  C ଏବଂ  D ମଝେିର A 
ରହଛି ି।  

  

A ଏବଂ E ମżେର େକଉଁମାେନ ଅଛŽ ି? 

ମŽବȻ I :  C ଡାହାଣ ପାଖକୁ ଲାଗି ବସିଛ ିE । 

ମŽବȻ II :  Dର ପାଖେର A ବସିଛ।ି 

 
A) 4  
B) 3  
C) 2  
D) 1  
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Section 4 - PaperI-Teaching Aptitude 

 

21) In which of the following methods, specially designed 
software applications are used to learn a subject?  

A) Mechanical Learning  
B) Computer Aided Learning  
C) Design Learning  
D) Software Focused Learning  

 

 
 
21) ନମିȪମżରୁ େକଉଁ ପŶତେିର, େଗାଟଏି ବଷିୟ ଶିǅବା ପାଇଁ ବେିଶଷ ଭାେବ 
ଡଜିାଇନ େହାଇǆବା ସଫȡଓୟାର ଆପିȲେକସନଗଡୁକି ବȻବହାର କରାଯାଏ?  

A) େମକାନକିାଲ ଲନǃŏ  

B) କƓୁȻଟର ଏେଡǕ  ଲନǃŏ  

C) ଡଜିାଇନ ଲନǃŏ  
D) ସଫȡଓୟାର େଫାକǩ ଡ ଲନǃŏ  

 

 
 
22) "Despite the RTE Act of 2009, if someone decides not 
to send his/her children to school, the government would 
not interfere." Who stated this?  

A) Kapil Sibal  
B) Arjun Singh  
C) Rajnath Singh  
D) Prakash Javedkar  

 

 
 
22) 2009 ର RTE ଅǇନୟିମ ପେର ମż, ଯଦ ିେକୗଣସ ିବȻĽି ନଜିର ପିଲାକୁ 
ବଦିȻାଳୟକୁ ନ ପଠାଇବାକୁ ନťିƽୟ ନଅିŽ,ି େତେବ ସରକାର ହƱେŁପ କରେିବ 
ନାହ ǂ। ଏହା କଏି କହǆିେଲ?  

A) କପିଲ ଶିବǤ  

B) ଅଜƽୁନ ସଂିହ  

C) ରଜନାଥ ସଂିହ  
D) Ȅକାଶ ଯାବଦକର  

 

 
 
23) "The teachers' expectations become a self-fulfilling 
prophecy''. Which of the following statements is NOT the 
inference of this statement?  

A) It is an expectation about the future that tends to come 
true partly because it is expected  

B) Keeping up to teachers' expectations will lead to 
failures  

C) Demonstrating teachers' positive expectations of 
student success motivates students  

D) It ensures cooperation, and builds productive student-
teacher relationships  

 

 
 
23) ଶŁିକମାନŋ ଆଶାଗଡ଼ୁକି ଏକ ƸୟଂସŽୁƨ ଭବଷିȻବାଣୀ େହାଇଯାଏ' | 
ନମିȪମżରୁ େକଉଁ ଉĽିଟ ିଏହ ିଉĽିରୁ ନŶିƽାରଣ େହାଇପାରବି ନୁେହଁ ?  

A) ଏହା ଭବଷିȻ ବଷିୟେର ଏକ ଆଶା ଯାହା ଆଂଶିକ ଭାେବ ସତ େହାଇଥାଏ 
କାରଣ ଏହା ଆଶା କରାଯାଇଥାଏ  

B) ଶŁିକŋ ଆଶାକୁ ସାକାର କରବିା ବଫିଳତା ଆଡ଼କୁ େନଇ ଯାଏ  

C) ବଦିȻାଥƽୀŋ ସଫଳତା ପାଇଁ ଶିŁକŋ ସକାରାŮକ ଆଶା େଦଖାଇବା 
ବଦିȻାଥƽୀŋୁ େȄରତି କେର  

D) ଏହା ସହେଯାଗ ଏବଂ ଗରୁୁ- ଶଷିȻ ଫଳȄଦ ସƓକƽ ନମିƽାଣକୁ ସନୁƢିିତ କେର 
 

 
 
24) When a child learns new concepts which are totally 
new for him, the process is called  

A) amalgamation  
B) development  
C) assimilation  
D) accommodation  

 

 
24) େଯେତେବେଳ ଶଶିଟୁଏି ତା ପାଇଁ ସଂପୂťƽ ନୂଆ ଏକ ବଷିୟ ଶିେଖ, ଏହ ି
ପŶତକୁି କଣ କୁହାଯାଏ ?  

A) ଏକǿ  
B) ବକିାଶ  

C) ଆŮୀକରଣ  
D) େମଳନ  

 

 
25) Which of the following options is a non-formal 
educational movement with training methods based on 
Law and promise, Learning by doing, and Patrol System?  

A) Scouting and Guiding  
B) Newspapers  
C) Mass Media  
D) Library System  
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25) ନେିମȪାĽ ବକିƝ ମżରୁ େକଉଁଟ ିଏକ ଅେନୗପଚାରକି ଶŁିା ବƎିବ ଯାହାର 
ତାଲିମ ପŶତ ିଆଇନ ଏବଂ Ȅତଶିƿତ,ି  କରିବା Ÿାରା ଶିŁା ଏବଂ ନରିୀŁଣ ବȻବƳା 
ଆଧାରତି?  

A) Ưାଉଟଂି ଏବଂ ଗାଇଡିଂ  
B) ସମȴାଦପǿ  
C) ଗଣ ମାżମ  

D) ପାଠାଗାର ବȻବƳା  
 

 
 
26) During vedic period, students studied close to their 
teachers in their school called  

A) homestay  
B) gurukuls  
C) hostels  
D) universities  

 

 
 
26) େବଦୖକି ଯଗୁେର ଛାǿଛାǿୀମାେନ େସମାନŋ ଶŁିକŋ ସହତି ନିବଡ଼ି ଭାେବ 
ଅżୟନ କରୁǆବା ବଦିȻାଳୟକୁ କଣ କୁହାଯାଏ ?  

A) ǲାହƳȻ  
B) ଗୁରୁକୁଳ  

C) ଛାǿାବାସ  
D) ବƤିବଦିȻାଳୟ  

 

 
 
27) Under whose chairmanship was the University 
Education Commission (1948-49) set up in India?  

A) Dr. B. R. Ambedkar  
B) Dr. Sarvepalli Radhakrishnan  
C) Dr. Zakir Hussain  
D) Dr. Rajendra Prasad  

 

 
 
27) ଭାରତେର ବƤିବଦିȻାଳୟ ଶŁିା କମିଶନ (1948-49) କାହା ଅżŁତାେର 
Ƴାପିତ େହାଇǆଲା?  

A) ଡ. ବ.ିଆǣ .ଆେମȴଦକର  

B) ଡ. ସବƽପơୀ ରାଧାǰƫିନ  
C) ଡ. ଜାକରି ହୁେସନ  

D) ଡ. ରାେଜƄ Ȅସାଦ  
 

28) If a learner fails to pay attention to a teacher in a 
classroom the teacher should  

A) suspend the student from attending his classes for a 
week  

B) offer resignation because he is not able to get the 
attention of his students  

C) give him a chocolate and continue with his teaching 
so that others are not disturbed  

D) diagnose the reasons and provide remedial teaching 
along with some extra guidance  

 

 
 
28) ଯଦ ିଜେଣ ଶŁିାଥƽୀ େȎଣୀକŁେର ଜେଣ ଶିŁକŋ ପାଠପଢା Ȅତ ିନଜର ନ 
ଦଅିŽ,ି ଶŁିକ କଣ କରବିା ଉଚǘି ?  

A) େȎଣୀରୁ େସହ ିଛାǿŋୁ ସƌାହ ପାଇଁ ନଲିମȴନ କରଦିଅି  
B) ନଜି ଛାǿମାନŋ żାନ ଆକଷƽଣ କରବିାେର ସŁମ େହଉନǆବାରୁ ଇƱଫା 

େଦଇ ଦଅି  

C) ତାŋୁ େଗାଟଏି ଚକେଲǓ େଦଇ ନଜି ପାଠପଢା ଜାରି ରǅବା ଦରକାର ଯାହା 
ଫଳେର ଅନȻ କାହାର ଅସୁବଧିା େହବନାହ ǂ  

D) କାରଣ ଚƺିଟ କର ଓ ଅତରିĽି żାନ ସହତି Ȅତକିାର ମୂଳକ ଶŁିାଦାନ 
େଯାଗାଇଦଅି  

 

 
 
29) As per the University Grants Commission Act, 1956, 
the Commission shall consist of a Chairman, a Vice-
Chairman and  

A) Nine other members  
B) Eight other members  
C) Ten other members  
D) Eleven other members  

 

 
 
29) ବƤିବଦିȻାଳୟ ଅନୁଦାନ କମଶିନ ଆଇନ, ୧୯୫୬ ଅନୁଯାୟୀ କମଶିନ ଜେଣ 
ଅżŁ, ଜେଣ ଉପାżŁ ଏବଂ କାହାକୁ େନଇ ଗଠତି େହବା ଉଚǘି   

A) ଅନȻ ନଅ ଜଣ ସଦସȻ  
B) ଅନȻ ଆଠ ଜଣ ସଦସȻ  
C) ଅନȻ ଦଶ ଜଣ ସଦସȻ  
D) ଅନȻ ଏଗାର ଜଣ ସଦସȻ  
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30) 'Give lower-achieving and high-achieving students 
equal attention and structure learning activities to ensure 
their success'. Which of the following CANNOT be inferred 
from the given statement on classroom management 
strategy?  

A) Top rank is ensured for all students in a classroom  
B) Equal attention is needed by all students of a class  
C) There are lower-achieving and higher-achieving 

students in the same classroom  
D) Learning activities need to be structured as per need 

of the students  
 

 
 
30) କମ ଅŋ ଏବଂ ଅǇକ ଅŋ ରଖǆୁବା ବଦିȻାଥƽୀମାନŋୁ ସମାନ żାନ ଦଅିŽୁ 
ଏବଂ େସମାନŋ ସଫଳତା ପାଇଁ ପଢ଼ାଇବା େଶୖଳୀକୁ ଗଠନ କରŽୁ | ନମିȪମżରୁ 
େȎଣୀଗହୃ ପରିଚାଳନା େକୗଶଳ ବଷିୟେର େକଉଁ ଉĽିଟ ିନŶିƽାରତି େହାଇପାରବି 
ନାହ ǂ?  

A) େଗାଟଏି େȎଣୀଗୃହେର ସମƱ ବଦିȻାଥƽୀŋ ପାଇଁ ଉő ଅŋ ସନୁƢିିତ 
କରାଯାଏ  

B) ଏକ େȎଣୀେର ସମƱ ବଦିȻାଥƽୀŋୁ ସମାନ żାନ େଦବା ଦରକାର  
C) େଗାଟଏି େȎଣୀଗୃହେର ଉଭୟ କମ ଅŋ ଏବଂ ଅǇକ ଅŋ ରଖǆୁବା 

ବଦିȻାଥƽୀମାେନ ଥାଆŽ ି 

D) ବଦିȻାଥƽୀମାନŋ ଆବଶȻକତା ଆନୁସାେର ପଢ଼ାଇବାର େଶୖଳୀ ତଆିର ିେହବା 
ଦରକାର  
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Section 5 - PaperII-Odia Language 

 

31) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ିେଯାଡ଼ା ଶƑ ପଯƽȻାୟବାଚୀ ଶƑ ନୁହŽଁ ି?  

A) ଦŽୀ-Ÿରିଦ   

B) ବାରǇି-ବାରଦି  
C) ଚřଳ-ଚପଳ  
D) ଭାƯର-ମହିରି   

 

 
 
32) Ƹର ବťƽର େକଉଁ ଦୁଇଟ ିବťƽକୁ ସଂଯĽୁ Ƹର କୁହାଯାଏ ?  

A) ଈ,ଊ  
B) ଏ,ଓ  

C) ଐ,ଔ  
D) ଋ,ଊ  

 

 
 
33) ନମିȪଲିǅତ ମżରୁ େକଉଁ ଉପସଗƽଟ ିଅତଶିୟ ଅଥƽେର ବȻବହୃତ ହୁଏ ନାହ ǂ ?  

A) ଅତ ି 
B) ଉǘ   
C) ନǣି   
D) Ȅତ ି 

 

 
 
34) 'ଐକȻ' ର ବପିରୀତ ଶƑ ସଚୂାଅ?  

A) ଅେନକୖȻ  
B) ଅେନକȻ  
C) ଅେନକତା  
D) ବଭିିƊତା   

 

 
35)  'େହା' ଧାତୁରୁ 'େହବା' ହୁଏ | ଏହ ି' େହା' ଧାତୁର ସଂƯତୃ ଧାତୁ ନମିȪଲିǅତ 
ମżରୁ େକଉଁଟ ି?  

A) େହ  
B) Ǫ  

C) ଭୂ   
D) ହା  

 

 

36) େଯଉଁ ǰିୟା ପଦ ବେିଶଷȻ ବା ବେିଶଷଣ ଶƑକୁ ଆଧାର କରି ଗଠିତ 
େହାଇଥାଏ , ତାହାକୁ ____କୁହାଯାଏ ?  

A) ସମାପିକା ǰିୟା  
B) ସƓƊ ǰିୟା   
C) ନାମ ଧାତୁ ǰିୟା  
D) େȄରଣାଥƽକ ǰିୟା  

 

 
 
37) ‘ଲଲାଟ େଲଖନ’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଭାଗȻ େଲଖା  
B) କପାଳ େରଖା  
C) ଆୟୁଷ ବୃŶି   
D) ଏକାǲତା  

 

 
 
38) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ି‘େପାଖରୀ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ନୁେହ ଁ?  

A) ତଟନିୀ  
B) ସେରାବର   

C) ପƦୁରଣିୀ   
D) ସରସୀ  

 

 
 
39) ' େଲଖǆୁବା ' - ଏହ ିǰିୟା ପଦର େȄରଣାଥƽକ ǰିୟା କଣ େହବ ?  

A) େଲଖାଉǆବା  
B) େଲǅǆବା  
C) େଲǅବା  
D) େଲǅଛ ି 

 

 
40) ‘ବଣ ବଛୁିଆତ’ି ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଅତ ିଦୁƨ  
B) ବଣର ବଛୁିଆତ ି 

C) ସାଧତୁା  
D) ସେőାଟତା  
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41) 
'ଯ'ଠାରୁ ' ◌ଁ ' ପଯƽȻŽ ବȻśନ ବťƽକୁ ________ କୁହାଯାଏ? ଶୂନȻ Ƴାନ ପୂ
ťƽ କର ?  

A) ଓƪ ବťƽ ବȻśନ  
B) ଅବଗƽȻ ବťƽ ବȻśନ  
C) ତାଲବȻ ବťƽ ବȻśନ  

D) ବଗƽ ବȻśନ  
 

 
 
42) ‘େବାକାଟା’ – ଏଠାେର େକଉଁ ବଭିĽି ଚƺି ବȻବହାର କରାଯାଇଛ ି?  

A) ଚତୁଥƽୀ   
B) Ÿତିୀୟା  
C) ତୃତୀୟା  
D) Ȅଥମା  

 

 
 
43) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ଇŒା’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ନୁେହ ଁ?  

A) ଅସୂୟା   
B) ଆକାଂŁା   
C) ଆଶା   
D) କାମନା  

 

 
 
44) ରାମବାବୁŋ ପାଖେର ଟŋା ପଇସା  କଛି ି ନǆବାରୁ ଖାଲ ି ହାତେର ଘରକୁ 
େଫରେିଲ | େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ଯଗୁȯ ଶƑ ?  

A) ସାଥƽକ ଓ ନରିଥƽକ   
B) ସମାନଥƽକ  

C) ŸରୁିĽି  
D) ବପିରୀତାଥƽକ  

 

 
 
45) ରୁǐ +ତ= ?  

A) ରୁǐ ତ  
B) ରୁǋ ଣ  

C) ୠତୁ  
D) ରŔୁ  
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Section 6 - PaperII-Mathematics 

 

46)  

The value of  is  

A) 100.11  
B) 10  
C) 10.1  
D) 100  

 

 
 
46)  

 ର ମଲୂȻ େହଉଛ ି 

A) 100.11  
B) 10  
C) 10.1  

D) 100  
 

 
 
47) 

  
In the given figure, OW = 15 cm, XW = 16 cm and OY = 8 
cm. Find OZ 

 
A) 25 cm  
B) 50 cm  
C) 30 cm  
D) 40 cm  

 

 
 
 
 
 
 
 
 
 

 
47)  

 
ଦଆିଯାଇǆବା ଚǿିେର OW = 15 େସମି, XW = 16 େସମି ଓ OY = 8 
େସମି। େତେବ OZ ବାହାର କରŽୁ। 

 
A) 25 େସମି  
B) 50 େସମି  
C) 30 େସମି  
D) 40 େସମି  

 

 
 
48) Kiran has 30 books, 18 of which are written by author 
A and 12 of which are written by author B. Raghav has 20 
books of the same two authors. If the ratio of the books 
written by author A to books written by author B is same 
for both Kiran and Raghav, then how many more books of 
author B does Kiran have than Raghav?  

A) 3  
B) 5  
C) 4  
D) 2  

 

 
 
48) କରିଣ ପାଖେର 30ଟ ିବହ ିଅଛ,ି େସ ମżରୁ 18ଟ ିେଲଖକ A ଏବଂ 12ଟ ି
େଲଖକ Bŋ Ÿାରା ଲିǅତ। ରାଘବŋର ସମାନ ଦୁଇ େଲଖକŋର 20ଟ ିବହ ିଅଛ।ି 
ଯଦ ିଉଭୟ କରିଣ ଏବଂ ରାଘବŋ ପାଖେର େଲଖକ A ଏବଂ େଲଖକ Bŋ Ÿାରା 
ଲିǅତ ବହ ିସମାନ ଅନୁପାତେର ଅଛ ିେତେବ କରିଣ ପାଖେର ରାଘବ ତୁଳନାେର 
େଲଖକ Bŋ Ÿାରା ଲିǅତ େକେତ ଖŢ ବହ ିଅǇକ ଅଛ ି?  

A) 3  
B) 5  

C) 4  
D) 2  
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49) Two or more points which lie on the same line and in 
the same plane are called  

A) Intersection points  
B) Collinear points  
C) Non-Collinear points  
D) Union points  

 

 
 

49) ଦୁଇ କମିȴା ଅǇକ ବƃୁି ଯାହାକି ଏକ ସମାନ େରଖା ଉପେର ଓ ଏକ ସମାନ 
ପƪୃେର Ƴତି ଥାଏ, ତାହାକୁ _________ କୁହାଯାଏ।  

A) ଅŽମƽଖୁୀ ବƃୁି  

B) ସମେରǅୟ ବƃୁି  
C) ସମାେରଖା ରହତି ବƃୁି  

D) ମିଳତି ବƃୁି  
 

 
 
50) If A, B and C are the three sets, then AU(B∩C) is equal 
to  

A) (A ∩ B) U(A ∩ C)  
B) (A U B) ∩ (A U C)  
C) (A U B) U (A U C)  
D) (A ∩ B) ∩(A ∩ C)  

 

 
 
50) ଯଦ ିA, B ଓ C େହଉଛŽି ତେିନାଟ ିେସଟ, େତେବ AU(B∩C) ସମାନ  

A) (A ∩ B) U(A ∩ C)  
B) (A U B) ∩ (A U C)  
C) (A U B) U (A U C)  
D) (A ∩ B) ∩(A ∩ C)  

 

 
 
51) If A = {1,2,3,6} and B = {2,4,6,9}, then A∩B is  

A) {1,3}  
B) {2,6}  
C) {4,9}  
D) {1,2,3,4,6,9}  

 

 
 
51) ଯଦ ିA = {1,2,3,6} ଓ B = {2,4,6,9}, େତେବ A∩B େହଉଛ ି 

A) {1,3}  

B) {2,6}  
C) {4,9}  
D) {1,2,3,4,6,9}  

 

 

52) In a mixture of 360 litres, the ratio of spirit and water 
is 2 : 1. If this ratio is to be 1 : 2, then the quantity (in litres) 
of water to be further added is  

A) 240  
B) 360  
C) 300  
D) 160  

 

 
 
52) 360 ଲିଟରର ଏକ ମିȎଣେର ƶିରǓି  ଏବଂ ଜଳର ଅନୁପାତ 2 : 1 । ଯଦ ି
ଏହ ିଅନୁପାତ 1 : 2 େହବାକୁ ହୁଏ  ,େତେବ ମଶିା ଯିବାକୁ ǆବା ପାଣିର ପରମିାଣ 

)ଲିଟରେର (େହଉଛି   

A) 240  

B) 360  
C) 300  
D) 160  

 

 
 
53) In an examination of two subjects Mathematics and 
English, 35% of total students failed in English, 45% failed 
in Mathematics and 20% failed in both the subjects. The 
percentage of those who passed in both the subjects is  

A) 60%  
B) 50%  
C) 30%  
D) 40%  

 

 
 
53) ଗଣିତ ଏବଂ ଇଂରାଜୀ ଦୁଇଟ ିବଷିୟେର ଏକ ପରୀŁାେର ସମୁଦାୟ ଛାǿŋ 
ମżରୁ 35% ଇଂରାଜୀେର େଫǤ  େହେଲ ଏବଂ 45% ଗଣିତେର େଫǤ  େହେଲ 
ଏବଂ 20% ଉଭୟ ବଷିୟେର େଫǤ  େହେଲ। େଯଉମଁାେନ ଉଭୟ ବଷିୟେର ପାǩ  
କରଛିŽ ିେସମାନŋର Ȅତଶିତ େହଉଛ ି 

A) 60%  
B) 50%  
C) 30%  
D) 40%  
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54) The smallest number which when increased by 7, the 
resultant number is divisible by 12, 16, 18, 21 and 28. 
What is the smallest number?  

A) 1015  
B) 1001  
C) 994  
D) 1021  

 

 

54) Łȁୁତମ ସଂଖȻା ଯାହା 7 ବୃŶି ପାଇେଲ ମିଳୁǆବା ସଂଖȻା 12, 16, 18, 21 
ଏବଂ 28 Ÿାରା ବଭିାଜȻ ହୁଏ । ଏହ ିŁȁୁତମ ସଂଖȻା କ’ଣ?  

A) 1015  
B) 1001  

C) 994  
D) 1021  

 

 
 
55) If by selling 33 mangoes, one gains the selling price 
of 11 mangoes, then the gain percent is  

A) 50%  
B) 20%  
C) 30%  
D) 10%  

 

 
 
55) ଯଦ ି33ଟ ିଆମȴ ବǰିି କରବିା Ÿାରା ଜେଣ 11ଟ ିଆମȴର ବǰିି ମଲୂȻ ପାଏ, 
େତେବ ଲାଭର Ȅତଶିତ େହଉଛ ି 

A) 50%  
B) 20%  
C) 30%  
D) 10%  

 

 
 
56) If (2/3)a = 54, then the value of 'a' equals to  

A) 81  
B) 18  
C) 72  
D) 90  

 

 
 
 
 

56) ଯଦ ି(2/3)a = 54, େତେବ 'a' ର ମଲୂȻ ସମାନ  

A) 81  
B) 18  

C) 72  
D) 90  

 

 
 
57) What is the area of a parallelogram, whose base is 45 
cm and height is 250 cm?  

A) 12250 cm²  
B) 11500 cm²  
C) 11550 cm²  
D) 11250 cm²  

 

 
 
57) 45 େସମି ଆଧାର ଓ 250 େସମି ଉőତା ǆବା ସାମŽରକିେŁǿର େŁǿଫଳ 
େକେତ?  

A) 12250 ବଗƽ େସମି  
B) 11500 ବଗƽ େସମି  
C) 11550 ବଗƽ େସମି  
D) 11250 ବଗƽ େସମି  

 

 
 
58) The area and perimeter of a square with diagonal of 
200 meters are respectively  

A) 40000 m2 and 200 m  
B) 10000 m2 and 100√2 m  
C) 40000 m2 and 400√2 m  
D) 20000 m2 and 400√2 m  

 

 
 
58) ୨୦୦ ମଟିର କťƽ ǆବା ଏକ ବଗƽେŁǿର େŁǿଫଳ ଏବଂ ଆୟତନ େହଉଛ ି
ଯଥାǰେମ  

A) 40000 ବଗƽ ମିଟର ଏବଂ 200 ମଟିର  
B) 10000 ବଗƽ ମିଟର ଏବଂ 100√2 ମିଟର  
C) 40000 ବଗƽ ମିଟର ଏବଂ 400√2 ମିଟର  

D) 20000 ବଗƽ ମିଟର ଏବଂ 400√2 ମିଟର  
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59) If m2 − 11m + 18=0, then the values of m are  

A) 3,6  
B) 2,7  
C) 2,9  
D) 3,9  

 

 
59) ଯଦ ିm2 − 11m + 18=0, େତେବ m ର ମଲୂȻଗଡୁକି େହଉଛ ି 

A) 3,6  
B) 2,7  

C) 2,9  
D) 3,9  

 

 
 
60) Three numbers are in the ratio of 2 : 3 : 5 and their 
L.C.M. is 1800. Their H.C.F. is  

A) 120  
B) 30  
C) 60  
D) 180  

 

 
 
60) ତେିନାଟ ିସଂଖȻା ଅନୁପାତ 2 : 3 : 5 ଏବଂ େସମାନŋର ଲ.ସା.ଗ.ୁ 1800 । 
େସମାନŋର ଗ.ସା .ଗୁ .େହଉଛି   

A) 120  
B) 30  
C) 60  

D) 180  
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Section 7 - PaperII-Social Science 

 

61) Where did Tebhaga movement take place by kisan 
sabha?  

A) Karnataka  
B) Delhi  
C) Hyderabad  
D) Bengal  

 

 
 
61) କଷିାନ ସଭା Ÿାରା େତଭାଗ ଆେƃାଳନ େକଉଁଠାେର  ଅନୁƪିତ େହାଇǆଲା?  

A) କťƽାଟକ  
B) ଦơିୀ  
C) ହାଇȁାବାଦ  
D) ବŏ  

 

 
 
62) Who among the following is the fourteenth President 
of India?  

A) Mr. Narendra Modi  
B) Mr. Pranab Mukherjee  
C) Mr. A.P.J. Abdul kalam  
D) Mr. Ramnath Kovind  

 

 
 
62) ନେିମȪାĽମାନŋ ମżରୁ କଏି ଭାରତର ଚତୁŵƽଶ ରାƩପତ?ି  

A) ȎୀଯĽୁ ନେରƄ େମାଦୀ  
B) ȎୀଯĽୁ Ȅଣବ ମୁଖƽାଜୀ  
C) ȎୀଯĽୁ ଏ.ପି.େଜ. ଅବଦୁǤ  କଲାମ  

D) ȎୀଯĽୁ ରାମନାଥ େକାବƃି  
 

 
 
63) Which among the following statements is CORRECT 
about the latitudes?  

A) The length of the latitude is maximum near the arctic 
circle  

B) The length of the latitude increases from the equator 
towards the poles  

C) The length of the latitudes are same at every place of 
the earth  

D) The length of the latitude decreases from the equator 
towards the poles  

 

63) ନମିȪଲିǅତ  ଉĽିଗଡୁକି ମżରୁ େକଉଁ ଉĽିଟ ିଅŁାଂଶ ସମȴƆେର ସଠǉି  ଅଥƽ 
Ȅକାଶ  କରୁଛ ି?  

A) ଉŧର େମରୁ ନକିଟେର ଅŁାଂଶର ଲମȴ ସବƽାǇକ େହାଇଥାଏ  
B) ବଷୁିବ େରଖାରୁ େମରୁ ଆଡକୁ ଅŁାଂଶର ଲମȴ ବଢ ିବଢି ଯ଼ାଇଥାଏ  

C) ପୃǆବୀ ପୃƪର ସବୁ Ƴାନେର ଅŁାଂଶର ଲମȴ ସମାନ ରହଥିାଏ  
D) ବଷୁିବ େରଖାରୁ େମରୁ ଆଡକୁ ଅŁାଂଶର ଲମȴ କମି କମି ଯ଼ାଇଥାଏ  

 

 
 
64) Which of the following constitutional amendments 
Acts aimed at strengthening the local self government?  

A) 71st and 72nd  
B) 74th and 75th  
C) 72nd and 73rd  
D) 73rd and 74th  

 

 
64) ନେିମȪାĽଗଡ଼ୁକି ମżରୁ େକଉଁ ସƖିଧାନ ସଂେଶାଧନ ଆଇନ Ƴାନୀୟ Ƹୟଂ 
ଶାସନକୁ ଦୃଢ଼ କରବିା ପାଇଁ ଉŵƨି?  

A) ୭୧ତମ ଏବଂ ୭୨ତମ  
B) ୭୪ତମ ଏବଂ ୭୫ତମ  

C) ୭୨ତମ ଏବଂ ୭୩ତମ  
D) ୭୩ତମ ଏବଂ ୭୪ତମ  

 

 
65) The Buxa Tiger Reserve located at the north-eastern 
edge of West Bengal bordering Bhutan and Assam was 
once famous for  

A) Gold mining  
B) Coal mining  
C) Iron ore mining  
D) Dolomite mining  

 

 
65) ପƢିମ ବŏର ଉŧର ପୂବƽ ଦଗିେର ǆବା , ଭୁଟାǜ ଓ ଆସାମ ସୀମା ନକିଟେର 
ǆବା ବŅା ବȻାǳ ସଂରŁଣ  , ଏକଦା  କଣ ପାଇଁ  ȄସିŶ ǆଲା ?  

A) ସନୁା ଖନନ  

B) େକାଇଲା ଖଣ ି 
C) ଲୁହା ପଥର ଖଣ ି 

D) େଡାେଲାମାଇǓ ଖଣ ି 
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66) Which of the following options was an exclusive 
Women's regiment of the Indian National Army?  

A) Raziya  
B) Rudramma  
C) Rani of Jhansi  
D) Ahilyabai  

 

 
 
66) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଇŢିଆନ ନȻାସନାଲ ଆମǃ (INA) ର ବେିଶଷ 
ମହଳିା େସୖନȻ ଦଳ ǆଲା?  

A) ରଜଆି  

B) ରୁȁƙା  
C) ଝାଂସୀ ର ରାଣୀ  
D) ଅହଲȻାବାଈ  

 

 
 
67) Which of the following options is a method of growing 
plants in a water based, nutrient rich solution without the 
use of soil?  

A) Hydrotherapy  
B) Hydrotropism  
C) Hydrodynamics  
D) Hydroponics  

 

 
 
67) ନମିȪଲିǅତ   ମżରୁ େକଉଁ Ȅǰିୟାେର  ମାଟବିହିୀନ ଭାେବ ଓ େପୗƨକି ଜଳୀୟ 
ȁବଣେର ଗଛ ଲଗା  େହାଇଥାଏ ?  

A) ହାଇେǼା େଥରାପି  
B) ହାଇେǼା Ǻପିଜǡି  

C) ହାଇେǼାଡାଇନାମିŅ୍  
D) ହାଇେǼାେପାନŅ୍ି  

 

 
 
68) Which of the following options is the earliest vedic text 
that contains hymns of God?  

A) Rig Veda  
B) Atharva Veda  
C) Sama Veda  
D) Yajur Veda  

 

 
 
 

68) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିସବୁଠାରୁ Ȅଥମ େବଦୖକି ପାଠ ǆଲା େଯଉଁǆେର 
ଭଗବାନŋର ଭଜନ ସାମଲି ǆଲା?  

A) ରୁǉ େବଦ  
B) ଅଥବƽ  େବଦ  
C) ସାମ େବଦ  

D) ଯଜୁର େବଦ  
 

 
 
69) Which of the following are the guidelines, which give 
more focus on development and welfare of Nation in 
social, political and economic aspects?  

A) Directive Principles  
B) Fundamental Duties  
C) Fundamental Principles  
D) Fundamental Rights  

 

 
 
69) ନେିମȪାĽ ମżରୁ େକଉଁ ମାଗƽଦଶǃକା ଗୁଡ଼କି େଦଶେର ସାମାଜକି, ରାଜେନତୖକି 
ଏବଂ ଆଥǃକ ଦଗିେର ବକିାଶ ଏବଂ କଲȻାଣ ନମିେŽ ଅǇକ żାନ େଦଇଥାଏ?  

A) ନେିŵƽଶତି ନୀତ ି 
B) େମୗଳକି କŧƽବȻ  
C) େମୗଳକି ସŶିାŽ  
D) େମୗଳକି ଅଧକାର  

 

 
 
70) At what angle do the meridians intersect the equator?  

A) 90°  
B) 66.5°  
C) 22.5°  
D) 0°  

 

 
 
70) େକେତ ଡǲିୀ େକାଣେର ମżƃନି େରଖା ବଷିବୁ େରଖାକୁ େଛଦ କରଥିାଏ  ?  

A) 90  ଡǲିୀ  
B) 66.5  ଡǲିୀ  
C) 22.5  ଡǲିୀ  
D) 0  ଡǲିୀ  
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71) Which of the following statements is the CORRECT 
explanation for Isotherm?  

A) Isotherm are lines joining places having equal 
pressure  

B) Isotherm are lines joining places having equal salinity 
C) Isotherm are lines joining places having equal height  
D) Isotherm are lines joining places having equal 

temperature  
 

 
 
71) ନମିȪଲିǅତ  ଉĽିଗଡୁକି ମżରୁ େକଉଁ ଉĽିଟ ିଇେସାଥǡƽ ସମȴƆେର ସଠିǉ  ଅଥƽ 
Ȅକାଶ  କରୁଛ ି?  

A) ସମାନ ଚାପ ǆବା Ƴାନକୁ େଯ଼ାଗକରୁǆବା େରଖାକୁ ଇେସାଥǡƽ  କୁହାଯ଼ାଏ  

B) ସମାନ ଲବଣତା  ǆବା Ƴାନକୁ େଯ଼ାଗକରୁǆବା େରଖାକୁ 
ଇେସାଥǡƽ  କୁହାଯ଼ାଏ  

C) ସମାନ ଉőତା ǆବା Ƴାନକୁ େଯ଼ାଗକରୁǆବା େରଖାକୁ ଇେସାଥǡƽ  କୁହାଯ଼ାଏ 
D) ସମାନ ତାପମାǿା ǆବା Ƴାନକୁ େଯ଼ାଗକରୁǆବା େରଖାକୁ 

ଇେସାଥǡƽ  କୁହାଯ଼ାଏ  
 

 
 
72) Which of the following options is the largest nonpolar 
desert in the world?  

A) Atacama desert  
B) Gobi desert  
C) Sahara desert  
D) Thar desert  

 

 
 
72) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଦୁନଆିର ସବୁଠାରୁ ବଡ ନǜ େପାଲାǣ ମରୁଭୂମି 
ଅେଟ?  

A) ଅଟାକାମା ମରୁଭୂମ ି 

B) େଗାବୀ ମରୁଭୂମ ି 
C) ସାହାରା ମରୁଭୂମ ି 

D) ଥର ମରୁଭୂମ ି 
 

 
 
73) Who among the following did Ashoka appoint as 
officials to spread the message of Dhamma?  

A) Dhamma Mahapatis  
B) Dhamma Mahamatras  
C) Dhamma Mahadhammas  
D) Dhamma Dhammanis  

 

73) ଧƙ ସେƃଶ Ȅସାର କରବିା ପାଇଁ ଅେଶାକ ନେିମȪାĽ ମାନŋ ମżରୁ କାହାକୁ 
ଅǇକାରୀ ଭାବେର ନଯୁିĽ କରǆିେଲ?  

A) ଧƙ ମହାପତମିାନŋୁ  
B) ଧƙ ମହାମାǿମାନŋୁ  
C) ଧƙ ମହାଧମମାନŋୁ  

D) ଧƙ ଧମାନମିାନŋୁ  
 

 
 
74) Which of the following dominant gases are found in 
upper Thermosphere?  

A) Argon  
B) Atomic hydrogen  
C) Atomic oxygen  
D) Carbon dioxide  

 

 
 
74) ନେିମȪାĽ ମżରୁ େକଉଁଟ ି ଉପର ଥେମƽାƶିୟରେର ମୁଖȻ ବାƬ ଭାବେର 
ମିଳଥିାଏ?  

A) ଆଗƽନ  

B) ପରମାଣବକି ଉǚ ଜାନ  
C) ପରମାଣବକି ଅମȳଜାନ  
D) କାବƽନ ଡାଇଅŅାଇଡ  

 

 
 
75) Who among the following described that the "Indian 
Constitution is first and foremost a social document"?  

A) Abraham Ville  
B) Granville Austin  
C) HamVille  
D) Graham Ville  

 

 
 
75) ନେିମȪାĽମାନŋ ମżରୁ କଏି ‘‘ଭାରତୀୟ ସƖିଧାନ Ȅଥେମ ଏବଂ ସବƽାେǲ ଏକ 
ସାମାଜକି ଦƱାବଜି’’ େବାଲି ବťƽନା କରǆିେଲ?  

A) ଆȆାହମ ଭିେଲ  
B) ǲାǜ ଭିେଲ ଅƨିǜ   
C) ହାǡ  ଭିେଲ  

D) ǲାହମ ଭିେଲ  
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Section 8 - PaperII-Science 

 

76) Which among the following options is the first stage of 
karyokinesis process of a typical eukaryotic cell?  

A) Metaphase  
B) Prophase  
C) Telophase  
D) Anaphase  

 

 
 
76) ନମିȪମżରୁ େକଉଁ ବକିƝଟ ି ଏକ ସାଧାରଣ ୟୁକାରଓିଟକି େକାଷର 
କାରଓିକେିନସସି Ȅǰିୟାର Ȅଥମ ପଯƽȻାୟ?  

A) େମଟାେଫଜ  

B) େȄାେଫଜ  

C) େଟେଲାେଫଜ  
D) ଆନାେଫଜ  

 

 
77) If the clothes of a person catches fire, he is 
immediately wrapped in a thick blanket.The blanket cut off 
the supply of which of the following gases?  

A) Carbon dioxide  
B) Oxygen  
C) Nitrogen  
D) Hydrogen  

 

 
77) ଯଦ ିଜେଣ ବȻĽିŋ େପାଷାକେର ନଆିଁ ଲାଗିଯାଏ, ତାŋୁ ସେŏସେŏ ଏକ 
େମାଟା କମȴଳେର େଘାଡାଇ ଦଆିଯାଏ | ଏହ ି କମȴଳ Ÿାରା େକଉଁ ଗȻାସକୁ 
ଅଟକାଯାଏ?  

A) ଅŏାରକାମȳ  
B) ଅମȲଜାନ  

C) ଯବŁାରଜାନ  
D) ଉଦଜାନ  

 

 
78) A simple pendulum of length 1 m has a bob of mass 
100 g. It is diplayed through an angle 60° from the vertical 
and then released. The K.E. of bob when it passes 
through the mean position is  

A) 1.4 J  
B) 1.0 J  
C) 0.5 J  
D) 0.25 J  

 

78) 1 ମଟିର େଦଘୖƽȻ ବଶିƨି ଏକ ସରଳ େପŢୁଲǡ େର 100ǲାମ ବƱୁŭ ବଶିƨି 
େପŢୁ ରହଛି।ି ଏହା ଲମȴ ଭାବେର ଏକ  60° େକାଣ େଦଇ Ȅଦଶǃତ େହଉଛ ିଏବଂ 
ଏହା ପେର େସଠାରୁ ଗତ ିଆରƗ କରୁଛ।ି େଯେତେବେଳ ଏହ ିେପŢୁ ମżƳତି ିେଦଇ 
ଅତǰିମ କରୁଛ ିେସେତେବେଳ ଏହାର K.E. େହଉଛ ି 

A) 1.4 J  

B) 1.0 J  

C) 0.5 J  
D) 0.25 J  

 

 
79) A drop of liquid of diameter 2.8 mm breaks up into 125 
identical drops. The change in energy is nearly (S = 75 
dyne/cm)  

A) 0 erg  
B) 74 erg  
C) 100 erg  
D) 19 erg  

 

 
79) 2.8 ମମିି ବȻାସ ବଶିƨି ଏକ ତରଳ ବƃୁି 125ଟ ିସମାନ ବƃୁିେର ଭŏାଗଲା। 
ଶĽିେର Ȅାୟ ପରବିŧƽନ େହଉଛ ି(S = 75 ଡାଇǜ /େସମି)  

A) 0 erg  

B) 74 erg  
C) 100 erg  

D) 19 erg  
 

 
80) Which of the following pairs does NOT form a 
symbiotic association?  

A) Anabaena - Azolla  
B) Rhizobium - Alfalfa  
C) Frankia - Alnus  
D) Azotobacter- Mycorrhiza  

 

 
80) ନମିȪମżରୁ େକଉଁ େଯାଡା ଏକ ସହଜୀବୀ ସଂଘ ଗଠନ କେର ନାହ ǂ?  

A) ଆନାବନିା - ଆେଜାଲା  
B) ରାଇେଜାବଅିମ - ଆǤ ଫାǤ ଫା  
C) ȅାŋିଆ-ଆଲନସ  
D) ଆେଜାଟବିȻାକȡର-ମାଇେକାରଜି  
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81) Which among the following options is NOT a 
component of plasma membrane of a cell?  

A) Carbohydrates  
B) Lipids  
C) Vitamins  
D) Proteins  

 

 
 
81) ନମିȪମżରୁ େକଉଁ ବକିƝ ଏକ େକାଷର ପȲାǐ ମା ଝିơୀର ଏକ ଉପାଦାନ ନୁେହଁ?  

A) କାେବƽାହାଇେǼଟ  

B) ଲିପିǕ   
C) ଭିଟାମିନ  

D) େȄାଟନି  
 

 
 
82) The fungus Aspergillus Niger is a type of mould 
producing which one of the following acids?  

A) Butyric Acid  
B) Citric Acid  
C) Carboxylic Acid  
D) Oxalic Acid  

 

 
 
82) ଆƶରଗଲିସ ନାଇଜର କବକ େହଉଛ ିଏକ Ȅକାରର ଫିƓ ିଯାହା ନମିȪମżରୁ 
େକଉଁ ଅମȲ ତଆିରି କରଥିାଏ?  

A) ବୁȻଟରିକି ଅମȲ  
B) ସାଇǺକି ଅମȲ  
C) କାେବƽାŅଲିିକ ଅମȲ  
D) ଅǉ ଜାଲିକ ଅମȲ  

 

 
 
83) Diseases like Polio and Chicken pox are usually 
caused by which of the following groups of 
microorganisms?  

A) Virus  
B) Bacteria  
C) Fungi  
D) Protozoa  

 

 
 
 

83) ନମିȪମżରୁ େକଉଁ ସŃୂଜୀବ େଗାƪୀ େଯାଗଁୁ େପାଲିଓ, ହାଡଫୁଟ ିଭଳ ିେରାଗ 
େହାଇଥାଏ?  

A) ଭାଇରସ  
B) ବȻାେକȡରିଆ  
C) କବକ  

D) େȄାେଟାେଜାଆ  
 

 
 
84) Select the non-conservational force among the 
following.  

A) Frictional force  
B) Gravitational force  
C) Electrostatic force between two charges  
D) Spring force  

 

 
 
84) ନେିମȪାĽ ମżରୁ ଅଣ-ସଂରŁଣାŮକ ବଳ ଚୟନ କରŽୁ।  

A) ଘଷƽଣ ବଳ  

B) ମାżାକଷƽଣ ବଳ  
C) ଦୁଇଟ ିଚାଜƽ ମżେର ƳରିେବଦୁୖȻତକି ବଳ  
D) ƶିȱŏ ବଳ  

 

 
 
85) A block of mass 2 kg is resting on a smooth surface. 
At what angle a force of 10 N will be acting on the block 
so that it will acquire a kinetic energy of 10 J after moving 
2 m?  

A) 45°  
B) 90°  
C) 60°  
D) 30°  

 

 
 
85) 2 େକଜ ିବƱୁŭ ବଶିƨି ଏକ ପଦାଥƽ େଗାଟଏି ସମତଳ ପƪୃ ଉପେର ରହଛି।ି 
ଏହ ିପଦାଥƽ ଉପେର େକଉଁ େକାଣରୁ 10 Nର ଏକ ବଳ Ȅେୟାଗ କରାଗେଲ ଏହା 
2m ଗତ ିକରବିା ପେର 10 J ଗତଜି ଶĽି ଅǇକାର କରବି  

A) 45°  
B) 90°  
C) 60°  
D) 30°  
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86) The reactions in which two or more substances 
combine to form a single substance are termed as  

A) Decomposition reactions  
B) Displacement reactions  
C) Double displacement reactions  
D) Combination reactions  

 

 
 
86) ଦୁଇ ବା ଅǇକ ପଦାଥƽ ମିଶ ିେଗାଟଏି ପଦାଥƽ େହବାର Ȅତǰିିୟାକୁ େକଉ ଁ
Ȅତǰିିୟା କୁହାଯାଏ?  

A) ଅପଘଟନ Ȅତǰିିୟା  
B) ବƳିାପନ Ȅତǰିିୟା  
C) େŸୖତ ବƳିାପନ Ȅତǰିିୟା  
D) ସଂେଯାଜନ Ȅତǰିିୟା  

 

 
 
87) Two capillary tubes of radii 0.4 cm and 0.8 cm are 
dipped in the same liquid. The ratio of heights through 
which liquid will rise in the tubes is  

A) 01:04  
B) 02:01  
C) 02:03  
D) 04:01  

 

 
 
87) 0.4 େସମି ଏବଂ 0.8 େସମି ବȻାସାŶƽ ବଶିƨି ଦୁଇଟ ିେକଶୖକି ନଳୀକୁ ସମାନ 
ତରଳ ପଦାଥƽେର ବୁଡ଼ାଇ ଦଆିଗଲା। ଏହ ିନଳୀଗଡ଼ୁକିେର ତରଳ ପଦାଥƽ ଉଠବିାର 
ହାର େହଉଛ ି 

A) 01:04  

B) 02:01  
C) 02:03  

D) 04:01  
 

 
 
88) The arrangement of flowers on the floral axis of a plant 
is known as  

A) Aestivation  
B) Inflorescence  
C) Efflorescence  
D) Venation  

 

 
 

88) ଏକ ଉŹିଦର େଫȲାରାଲ ଆŅସିେର ଫୁଲଗଡୁକିର ବȻବƳାକୁ କଣ କୁହାଯାଏ?  

A) ଏƨିେଭସନ  
B) ଇନେଫȲାେରେସନȷ  
C) ଏେଫȲାେରେସନȷ  
D) େଭେନସନ  

 

 
89) In which types of plants, strong woody stem and deep 
anchoring roots are usually NOT necessary?  

A) Xerophytes  
B) Epiphytes  
C) Halophytes  
D) Hydrophytes  

 

 
89) େକଉଁ Ȅକାରର ଉŹିଦେର ଶĽ କାଠ କାŢ ଓ ଗଭୀରକୁ ଯାଉǆବା େଚରର 
ଆବଶȻକତା ସାଧାରଣତଃ ନଥାଏ?  

A) େଜେରାଫାଇǓ   
B) ଏପିଫାଇଟ  
C) ହାେଲାଫାଇǓ   
D) ହାଇେǼାଫାଇଟ  

 

 
90) The coefficient of volumetric expansion of mercury is 
18 x 10-5/°C. The thermometer bulb has volume of 10-6 m3 
and cross section of the stem is 0.002 cm2. Assuming that 
bulb is filled with mercury at 0 °C, the increase in the 
length of the mercury column at 100 °C will be  

A) 9 mm  
B) 18 cm  
C) 9 cm  
D) 18 mm  

 

 
90) ପାରଦର ଆୟତନ ବƱିାର ଗଣୁାŋ 18 x 10-5/°େସŠେିǲǕ । ଥେମƽାମଟିର 
ବǤ ଭର ଆୟତନ 10-6 m3 ଏବଂ ନଳୀର ଅନୁȄƳ 0.002 cm2। ଏହ ିବǤ ଭେର 
ପାରଦ 0 °େସŠେିǲǕ େର ଭରଣା କରାଯାଇǆବା ǲହଣ କେଲ 100  °
େସŠେିǲǕ େର ପାରଦ ƱƗର ଉőତା େକେତ ବୃŶ ିେହବ  

A) 9 mm  

B) 18 cm  
C) 9 cm  

D) 18 mm  
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Question Paper No:  53633_73  

Answer Key 

1.  B 
2.  C 
3.  C 
4.  B 
5.  A 
6.  D 
7.  D 
8.  C 
9.  C 
10. C 
11. D 
12. D 
13. D 
14. A 
15. A 
16. D 
17. C 
18. A 
19. D 
20. D 
21. B 
22. A 
23. B 
24. C 
25. A 
26. B 
27. B 
28. D 
29. C 
30. A 

 

31. B 
32. C 
33. D 
34. A 
35. C 
36. A 
37. A 
38. A 
39. A 
40. A 
41. B 
42. D 
43. A 
44. B 
45. B 
46. B 
47. C 
48. C 
49. B 
50. B 
51. B 
52. B 
53. D 
54. B 
55. A 
56. A 
57. D 
58. D 
59. C 
60. C 

 

61. D 
62. D 
63. D 
64. D 
65. D 
66. C 
67. D 
68. A 
69. A 
70. A 
71. D 
72. C 
73. B 
74. C 
75. B 
76. B 
77. B 
78. C 
79. B 
80. D 
81. C 
82. B 
83. A 
84. A 
85. C 
86. D 
87. B 
88. B 
89. D 
90. C 
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